# ANNALES UNIVERSITATIS MARIAECURIE-SKŁODOWSKA LUBLIN - POLONIA 

Instytut Matematyld Uniwersytet Marii Curie-Skłodowskiej

## Jan G. KRZYŻ

## Coefficient Estimates for Powers of Univalent Functions and Their Inverses

Oszacowania współczynników potęg funkcji jednolistnych i ich funkcji odwrotnych

Оиенки козффишнентов степени однодистных функций и их обратньдх функшии

0 . Introduction. Notations. Let $S$ be the class of functions

$$
\begin{equation*}
f(z)=z+a_{2} z^{2}+a_{3} z^{3}+\ldots=z+\sum_{k=2}^{-} a_{k}(f) z^{k} \tag{0.1}
\end{equation*}
$$

regular and univalent in the unit disk $\mathbf{D}$. The inverse $F$ of $f$ is a function regular and univalent in $|w|<0.25$ which has the form

$$
\begin{equation*}
F(w)=w+A_{2} w^{2}+A_{3} w^{3}+\ldots=w+\sum_{k=2}^{\infty} A_{k}(F) w^{k} \tag{0.2}
\end{equation*}
$$

In what follows we denote this class of inverses by $S^{-1}$.
We introduce the matrices $\left(b_{k}^{(n)}\right),\left(A_{k}^{(n)}\right), \pm n, k \in \mathrm{~N}$ ( = the set of all positive integers), defined as follows

$$
\begin{gather*}
{\left[\frac{z}{f(z)}\right]^{n}=1+b_{1}^{(n)} z+b_{2}^{(n)} z^{2}+\ldots=1+\sum_{k=1}^{\infty} b_{k}^{(n)}(f) z^{k},}  \tag{0.3}\\
{\left[1 \frac{F(w)}{w}\right]^{n}=1+A_{1}^{(n)} w+A_{2}^{(n)} w^{2}+\ldots=1+\sum_{k=1}^{n} A_{k}^{(n)}(F) w^{k} .} \tag{0.4}
\end{gather*}
$$

Let $\Sigma$ be the associated class of functions $g$ univalent in the outside $D^{*}$ of the unit disk D. i.e. $g(\xi)=(f(z))^{-1}, \xi=z^{-1}$ and

$$
\begin{equation*}
g(\xi)=\xi+b_{0}+b_{1} \xi^{-1}+\ldots=\xi+\sum_{k=0} b_{k}(g) \xi^{-k}, \tag{0.5}
\end{equation*}
$$

If $\Sigma^{-1}$ is the corresponding class of inverses $G=g^{-1}$, then obviously

$$
\begin{equation*}
G(u)=u+B_{0}+B_{1} u^{-1}+\ldots=u+\sum_{k=0}^{\infty} B_{k}(G) u^{-k} \tag{0.6}
\end{equation*}
$$

and

$$
\begin{equation*}
\left[\frac{z}{f(z)}\right]^{n}=\left[\frac{g(\xi)}{\xi}\right]^{n}, \quad\left[\frac{F(w)}{w}\right]^{n}=\left[\frac{u}{G(u)}\right]^{n}, \quad u=w^{-1} . \tag{0.7}
\end{equation*}
$$

Thys implies that the relevant matrices for the class $\Sigma$ analogous to (0.3) and (0.4) are essentially the same as those for the class $S$. It follows from ( 0.2 ) and (0.4) that

$$
\begin{equation*}
A_{n}(F)=A_{n-1}^{(1)}(F) \tag{0.8}
\end{equation*}
$$

whereas from (0.4), (0.6) and (0.7) we obtain

$$
\begin{equation*}
B_{n}(G)=A_{n+1}^{(-1)}(F) \tag{0.9}
\end{equation*}
$$

There is a simple relation (1.1) between $b_{k}^{(n)}$ and $A_{k}^{(n)}$. In Sect. 1 we shall obtain estimates for $A_{k}^{(n)}$ and $b_{k}^{(n)}$ originating in Baernstein inequality. Due to the relation (0.8) we obtain from our estimates a simple proof of Loewner's inequality:

$$
\begin{equation*}
\left|A_{n}\right| \leqslant \frac{1}{n+1}\binom{2 n}{n} \tag{0.10}
\end{equation*}
$$

independent of Loewner's theory. An analogous estimate

$$
\begin{equation*}
\left|B_{n}\right| \leqslant \frac{1}{n+1}\binom{2 n}{n} \tag{0.11}
\end{equation*}
$$

first obtained by Netanyahu [7] with variational methods implies an estimate of $A_{k}^{(-1)}$. The problem: To determine sharp bounds for the coefficients $b_{k}^{(n)}, A_{k}^{(n)}$, is much more general than the familiar problems of estimates for $a_{n}$ and $b_{n}$. In fact, $b_{k}^{(1)}$ are essentially the coefficients of $g \in \Sigma$, whereas $b_{k}^{(-1)}$ are coefficients of $f \in S$.

It is easily seen that the Koebe function $\tilde{f}$ :

$$
\begin{equation*}
\tilde{f}(z)=z(1+z)^{-2} \tag{0.12}
\end{equation*}
$$

resp. its inverse

$$
\begin{equation*}
F(w)=(2 w)^{-1}(1-2 w-\sqrt{1-4 w})=\sum_{n=1}^{\infty} \frac{1}{n+1}\binom{2 n}{n} w^{n} \tag{0.13}
\end{equation*}
$$

are not always extremal for $b_{k}^{(n)}$, or $A_{k}^{(n)}$. In fact, $\left[z \cdot(\tilde{f}(z))^{-1}\right]^{n}=(1+z)^{2 n}, n \in \mathbb{N}$,
is a polynomial and consequently $b_{k}^{(n)}(\tilde{f})=0$ for $k>2 n$ which obviously is not a naximal value. Nevertheless, $\widetilde{f}$ shows to be maximal for $b_{k}^{(n)}$ with $1 \leqslant k \leqslant n+1$, cf. Theorem 3.

In what follows we usc a tilde to indicate objects (functions, coefficients, sets) assuciated with the Koebe function (0.12).

The notation $G(\mathbf{z})<H(z)$ means as usual that all the Taylor (or Laurent) coefficients of $/ I$ at 0 , or $\infty$, are non-negative and majorize corresponding coefficients of $G$ in absolute value.

This paper is a continuation of [4], where the relation between $A_{n}, B_{n}$ and $b_{k}^{(n)}$ was estab-lished and some applications have been given. The author is much indebted to Professors R. J. Libera and E. Złotkiewicz for helpful discussions and criticism.

The results of this paper were presented and the Conference on Complex Analysis in Halle, GDR, in Scptember, 1980, cf. [3].

1. Estimates of $A_{k}^{(n)}$ and $b_{k}^{(n)}$. There is a simple relation between $A_{k}^{(n)}$ and $b_{k}^{(n)}$. If $C_{r}=\{z \in \mathbf{C}:|z|=r\}, 0<r<0.25$ and $n \neq k$ then from (0.3) we obtain on integrating by parts

$$
\begin{gather*}
b_{k}^{(n)}(f)=(2 \pi i)^{-1} \int_{C_{r}}\left[z \cdot(f(z))^{-1}\right]^{n} z^{-k-1} d z= \\
=(2 \pi i)^{-1} \int_{C_{r}} w^{-n}[F(w)]^{n-k-1} F^{\prime}(w) d w= \\
=\left[n \cdot(n-k)^{-1}\right] \cdot(2 \pi i)^{-1} \int_{C_{r}}\left[F(w) \cdot w^{-1}\right]^{n-k} w^{-k-1} d w, \text { i.e. } \\
b_{k}^{(n)}(f)=\frac{n}{n-k} A_{k}^{(n-k)}(F) . \tag{1.1}
\end{gather*}
$$

from (0.8) and (1.1) we obtain with $k=n-1$

$$
\begin{equation*}
A_{n}=A_{n-1}^{(1)}=n^{-1} \cdot b_{n-1}^{(n)}=(2 \pi i n)^{-1} \int_{C_{r}}[f(z)]^{-n} d z \tag{1.2}
\end{equation*}
$$

whereas (0.9) and (1.1) yield for $k=n+1$.

$$
\begin{equation*}
B_{n}=A_{n+1}^{(-1)}=-n^{-1} b_{n+1}^{(n)}=-(2 \pi i v)^{-1} \int_{C_{p}}[f(z)]^{-n} z^{-2} d z \tag{1.3}
\end{equation*}
$$

or

$$
\begin{equation*}
B_{n}=-(2 \pi i n)^{-1} \int_{C_{R}}[\delta(\xi)]^{n} d \xi, R>1 \tag{1.4}
\end{equation*}
$$

The formulas (1.2) and (1.4) are particular cases of the Teixeira's formulas for coefficients in the expansion of $\psi(z)$ into a series of powers of $\theta(z)$, cf. § 7.3 in [8]. E.g.
(1.3) corresponds to the case $\psi(z) \equiv z, \theta(z) \equiv f(z)$. They are very comerient in evaluating the coefficients of inverse functions, cf. e.g. [4].

As a matter of example consider the class $\Sigma^{\prime}$ of functions $g \in \Sigma$ with hydrodynamical normalization:

$$
g(\xi)=\xi+b_{1} / \xi+b_{2} / \xi_{2}+\ldots .|\xi|>1
$$

Then we have: $|g(\xi)| \leqslant|\xi|+|\xi|^{-1}$, cf. [5], and using this and (1.4) we obtain at once $\left|B_{n}\right|<2^{n} / n$.

We now consider the case $k=n$. In view of the identity

$$
\frac{d}{d w}\left[w^{-n} \log \frac{F(w)}{w}\right]=w^{-n} \frac{F^{\prime}(w)}{F(w)}-w^{-n-1}-n w^{-n-1} \log \frac{F(w)}{w}
$$

we obtain on integration

$$
\begin{aligned}
& b_{n}^{(n)}(f)=(2 \pi i)^{-1} \int_{C_{r}}[f(z)]^{-n} \frac{d z}{2}=(2 \pi i)^{-1} \int_{C_{r}} w^{-n} \frac{F^{\prime}(w)}{F(w)} d w= \\
&=\frac{n}{2 \pi i} \int_{C_{r}} w^{-n-1} \log \frac{F(w)}{w} d w .
\end{aligned}
$$

Thus, putting

$$
\begin{equation*}
\log \frac{F(w)}{w}=\gamma_{1} w+\gamma_{2} w^{2}+\ldots .=\sum_{k=1} \gamma_{\dot{k}}(F) w^{k} \tag{1.5}
\end{equation*}
$$

we obtain

$$
\begin{equation*}
b_{n}^{(n)}(f)=n \gamma_{n}(F) \tag{1.6}
\end{equation*}
$$

## We now prove

Lemma 1. We have for fixed $n \in \mathbf{N}$ and $k$, franging over $\mathbf{N}$ and $S$, resp., the following sharp estimate

$$
\left|b_{k}^{(n)}(f)\right| \leqslant\left(\begin{array}{c}
2  \tag{1.7}\\
n \\
n
\end{array}\right)=b_{n}^{(n)}(\tilde{f})
$$

Proof. It follows from (0.3) that

$$
\left|b_{k}^{(n)}(\cap)\right|=(2 \pi)^{-1}\left|\int_{C_{r}}\left[\frac{z}{f(z)}\right]^{n} z^{-k-1} d z\right| \leqslant \frac{r^{n-k}}{2 \pi} \int_{0}^{2 \pi}\left|f\left(r^{i \theta}\right)\right|^{-n} d \theta
$$

As shown by Baernstein [1], the last expression is maximal for $f=\tilde{f}$. Using this and making $r \rightarrow 1$, we obtain

$$
\left|b_{k}^{(n)}(f)\right| \leqslant(2 \pi)^{-1} \int_{0}^{2 \pi}\left|\tilde{f}\left(e^{i \theta}\right)\right|^{-n} d \theta=\frac{2^{2 n}}{2 \pi} \int_{0}^{2 \pi}|\cos \theta / 2|^{2 n} d \theta=\binom{2 n}{n}
$$

and this proves (1.7). As an immediate consequence we obtain
Theorem 1. We have for any $F \in S^{-1}$

$$
\begin{equation*}
\log \frac{F(w)}{w}<\log \frac{\tilde{F}(w)}{w}=\sum_{n=1}^{\sum} n^{-1}\binom{2 n}{n} w^{n} \text {. } \tag{1.8}
\end{equation*}
$$

Proof. It follows from (1.6) and (1.7) that

$$
\max _{F \in S^{-1}}\left|\gamma_{n}(F)\right|=n^{-1} \max _{f \in S}\left|b_{n}^{(n)}(f)\right|=n^{-1}\left(\begin{array}{c}
2 \\
n \\
n
\end{array}\right)=n^{-1} b_{n}^{(n)}(\tilde{f})=\gamma_{n}(\tilde{F})
$$

and this proves (1.8).
Corollary 1. We obtain from (1.8) after multiplication by $\alpha$ and a subsequent exponentiation

$$
\begin{equation*}
\left[\frac{F(w)}{w}\right]^{\infty}<\left[\frac{\tilde{F}(w)}{w}\right]^{\propto} \tag{1.9}
\end{equation*}
$$

for all positive a In particular

$$
\begin{equation*}
\left|A_{k}^{(n)}(F)\right| \leqslant A_{k}^{(n)}(\tilde{F})=\tilde{A}_{k}^{(n)} ; n, k \in \mathbb{N} \tag{1.10}
\end{equation*}
$$

If $k \leqslant n$, then by (1.1), (1.7) and (1.10) the coefficients $b_{k}^{(n)}(f)$ are maximal in absolute value for $f=\tilde{f}$. This implies an improvement of $(1.7)$ for $k \leqslant n$ :

Corollary 2. We have for fixed $n, k \in \mathbf{N}, 1 \leqslant k \leqslant n$, and $f$ ranging over $S$ a sharp estimate

$$
\begin{equation*}
\left|b_{k}^{(n)}(f)\right| \leqslant b_{k}^{(n)}(\tilde{f})=\binom{2 n}{k} \tag{1.11}
\end{equation*}
$$

We show later (Theorem 3) that this improved estimate also holds for $k=n+1$. From (1.2) and (1.11) with $n=k-1$ we obtain
Corollary $3,[6]$. We have a sharp estimate

$$
\begin{equation*}
\left|A_{n}(F)\right| \leqslant n^{-1}\binom{2 n}{n-1}=(n+1)^{-1}\binom{2 n}{n}=A_{n}(\tilde{F})=\tilde{A}_{n} \tag{1.12}
\end{equation*}
$$

An inductive proof of inequality (1.12), also based Baerstein's inequality, was given in [2], as pointed out to the author by R. J. Libera.

Evidently $b_{k}^{(\alpha)}, A_{k}^{(\alpha)}$ make sense for all real $\alpha$ and the equality (1.1) the remains true. Hence, in view of (1.9), we obtain

$$
\left|b_{k}^{(\alpha)}(f)\right| \leqslant b_{k}^{(\alpha)}(\tilde{f})=\left(\begin{array}{c}
2  \tag{1.13}\\
k \\
k
\end{array}\right), \alpha>k
$$

where $b_{k}^{(\alpha)}(f)$ are defined by (0.3) with $n=\alpha$.
Corollary 4, [6]. Putting $\alpha=0.5$ in (1.9) we obtain

$$
\begin{equation*}
F_{1}(w)<\left[\widetilde{F}\left(w^{2}\right)\right]^{0.5}=w^{1}+\sum_{n=2}^{\infty} n^{-1}\binom{2 n-2}{n-1} w^{2 n-1} \tag{1.14}
\end{equation*}
$$

for any $F_{1}=f_{1}^{-1}$, where $f_{1} \in S$ is an odd univalent function An analogous formula for $f$ with $k$-fold symmetry may be obtained similarly.

The following problem arises in connection with (1.13): For a given positive $\alpha$ find the maximal integer $m(\alpha)$ such that (1.13) holds for any $k \leqslant m(\alpha)$ and any $f \in S$.
2. The estimate of $A_{k}^{(-1)}$ and its consequences. If $g \in \Sigma$ and $f \in S$ is its associated function, then, by (0.7) with $n=1$, we have $G(u)=g^{-1}(u)=1 / F\left(u^{-1}\right)$, where $F=f^{-1}$. This means that the coefficients of $G$ and $1 / F$ coincide. Thus we may consider

$$
\begin{equation*}
H\left(w^{\prime}\right)=1 / F(w)=w^{-1}-B_{0}-B_{1} w-B_{2} w^{2}-\ldots, F \in S^{-1}, \tag{2.1}
\end{equation*}
$$

instead of $G \in \Sigma^{-1}$. The reason for changing the signs of $B_{n}$ is evident because of formula (2.3)

From (0.2) and (2.1) we obtain

$$
\begin{equation*}
A_{n+1}=B_{0} A_{n}+B_{1} A_{n-1}+B_{2} A_{n-2}+\ldots+B_{n-1} A_{1}, A_{1}=1 \tag{2.2}
\end{equation*}
$$

On the other hand, for $F=\widetilde{F}$ and $\tilde{H}=1 / \tilde{F}$ we have

$$
\begin{equation*}
\tilde{H}(w)=w^{-1}-2-w-\tilde{A}_{2} w^{2}-\tilde{A}_{3} w^{3}-\ldots \tag{2.3}
\end{equation*}
$$

where $\tilde{A}_{n}$ are defined in (1.12). Consequently

$$
\begin{equation*}
\tilde{A}_{n+1}=2 \tilde{A}_{n}+\tilde{A}_{1} \tilde{A}_{n-1}+\tilde{A}_{2} \tilde{A}_{n-2}+\ldots+\tilde{A}_{n-1} \tilde{A}_{1}, \tilde{A}_{1}=1 \tag{2.4}
\end{equation*}
$$

If we take the Netanyahu estimate (0.11) for granted, then by (2.2), (2.4) and an obvious induction we readily obtain Loewner's estimate. On the other hand, it follows from (1.7) that $\log w / F(w) \ll \log \widetilde{F}\left(w^{\prime}\right) / w$ and by exponentiation we obtain $w / F(w)<\widetilde{F}(w) / w$. This is equivalent to the inequality

$$
\begin{equation*}
\left|B_{n}\right| \leqslant \tilde{A}_{n+2} \tag{2.5}
\end{equation*}
$$

which is not sharp. Therefore it appears plausible that a straightforward derivation of bounds for $\left|B_{\boldsymbol{n}}\right|$ while taking ( 0.10 ) for granted leads to the estimate (2.5) only.

In view of (0.9) and (0.11), we have

$$
\left|B_{n}(G)\right|=\left|A_{n+1}^{(-1)}(\bar{F})\right| \leqslant(n+1)^{-1}\binom{2 n}{n}=A_{n-1}^{(1)}(\tilde{F}) \Rightarrow \tilde{A}_{n}
$$

Hence, we obtain sharp estimate

$$
\begin{equation*}
\left|A_{n+2}^{(-1)}(F)\right| \leqslant A_{n}^{(1)}(\tilde{F}) \tag{2.6}
\end{equation*}
$$

which may be restated as
Theorem 2. If $F \in S^{-1}$, then

$$
\begin{equation*}
w^{-1}-[F(w)]^{-1}+a_{2}<\tilde{F}(w) \tag{2.7}
\end{equation*}
$$

On the other hand, we obtain from (1.3) and (2.6) $\left|B_{n}\right|=n^{-1}\left|b_{n+1}^{(n)}(f)\right| \leqslant$ $\leqslant(n+1)^{-1}\binom{2 n}{n}=n^{-1}\binom{2 n}{n+1}$, i.e.

$$
\begin{equation*}
\left|b_{n+1}^{(n)}(\Omega)\right| \leqslant\binom{ 2 n}{n+1}=b_{n+1}^{(n)}(\tilde{f}) \tag{2.8}
\end{equation*}
$$

This leads to the following extension of Corollary 2:
Theorem 3. We have for fixed $n, k \in \mathbf{N}, 1 \leqslant k \leqslant n+1$, and franging over $S$, a shasp estimate

$$
\begin{equation*}
\left|b_{k}^{(n)}(f)\right|<b_{k}^{(n)}(\tilde{f})=\binom{2 n}{k} \tag{2.9}
\end{equation*}
$$

Again we can state a similar problem as before: For a given $n \in \mathbf{N}$ find the maximal integer $m_{n}$ such that (2.9) holds for any $f \in S$ and any $k \leqslant m_{n}$. Obviously $n+1 \leqslant m_{n} \leqslant$ $\leqslant 2 n$. It is easily verified that for $g_{0}(\xi)=\xi\left(1+\xi^{-3}\right)^{2 / 3}-2^{2 / 3}$ and an associated $f_{0} \in S$
we have $\left|b_{4}^{(2)}\left(f_{0}\right)\right|=(4 / 3) \cdot 2^{2 / 3}>1=b_{4}^{(2)}(\tilde{f})$ so that $m_{2}=3$.
The fact that the coefficients of both $F \in S^{-1}$ and $1 / F=H$ are maximai for $F=\widetilde{F}$ has an interesting consequence.

Let us consider the function

$$
q(w)=H(w)-F(w)=w^{-1}-B_{0}-\left(A_{1}+B_{1}\right) w-\left(A_{2}+B_{2}\right) w^{2}-\ldots
$$

which maps conformally the domain $f(\mathrm{D})$ onto $\mathbb{C} \backslash[-2 i ; 2 i]$. Obviously the coefficients of $q$ are maximal in absolute value for $\tilde{q}=\tilde{H}-\tilde{F}$. Conversely, any function $q$ with $q(0)=\infty$ mapping conformally a domain $f(D)(f \in S)$ onto the outside of a segment of length 4 bisected by the origin is a rotation of a function of the form $H-F$. Hence, we may assume without loss on generality the thesegment coincides with the imaginary axis. On replacing $w$ by $u^{-1}$ we may express these considerations in the form of

Theorem 4. Let $\Omega$ be a simply connected domain in the extended plane $\mathbb{E}$ whose complementary set $\Gamma$ is a continuum which contains the origin and has the transfinite diameter $d(\Gamma)=1$. For any co nformal mapping $p$ of $\Omega$ onto $C \backslash[-2 i ; 2 i]$ of the form $o(u)=u+\alpha_{0}+\alpha_{1} u^{-1}+\alpha_{2} u^{-2}+$. we have sharp estimates

$$
\left|\alpha_{0}\right|<2 ;\left|\alpha_{n}\right| \leqslant 2 \tilde{A}_{n}=2 \cdot(n+1)^{-1}\binom{2 n}{n}, n=1,2, \ldots
$$

The equality is attained in each case by

$$
\tilde{p}(u)=-\widetilde{F}\left(u^{-1}\right)+\left[\widetilde{F}\left(u^{-1}\right)\right]^{-1}=\sqrt{u(u-4)},
$$

and the extremal domain $\tilde{\Omega}=\mathbf{C} \backslash[0 ; 4]$.

## REFERENCES

[1] Baernstejn, A., Integral means, univalent functions and circular symmetrization, Acta Math. 133 (1974), 133-169.
[2] Bacrnstein, A., Schober, G., Estimates for inverse coefficients of univalent functions from intcgral means, Israel J. Math. 36 (1980), 75-82.
[3] Krzyi, J. G., Kotffizientenabschätzungen für die Potenzen von schlichten Funktionen und ihrer Umkehrfunkrionen, Komplexc Analysis und ihre Anwendung auf partielle Differentialgleichungen, Martin Luther - Universität Halle - Wittenberg, Wissenschaftliche Beiträge 1980/41 (M 18), Halle, (Saale) 1980, p. 54.
[4] Krzyì, J. G., Libera, R. J., Złotkiewicz, E., Coefficients of inverses of regular starlike functions, Ann. Univ. M. Curie-Skłodowska Sect. A, 33 (1979), 103-110.
[5] Loewner, K., Ûber Extremumssizze bei der konformen Abbildung des Ausseren des Einheits. kreises. Math. Z. 3 (1919), 65-77.
[6] Loewner, K., Untersuchungen über schlichte konforme Abbildungen des Einheitskreises I., Math. Ann. 89 (1923), 103-121.
17] Netanyahu, E., Extremal problems for schlicht functions in the exterior of the unit circle, Canad. J. Math. 17 (1965), 335-341.
[8] Whittaker, E. T., Watson, G. N., A course of modern analysis, vol I, Cambridge University Press. Cambridg̣e 1935.

## STRESZCZENIE

Niech $S$ będzie klasa unormowanych wiwykły sposób funkcji $f$ jednolistnych w kole jednostkowẙm i niech $b_{k}^{(n)}(f)$ będzie $k$-ty'm współczynnikiem taylorowskim funkcji $[z / f(z)]^{n}$ w punkcie $z=0$. Otrzymujemy dokładne oszacowania:
a) $\left|b_{k}^{(n)}(f)\right|<\binom{2 n}{n} ; n, k \in N, f \in S$;
b) $\left|b_{k}^{(n)}(f)\right|<\binom{2 n}{k} ; n \in \mathrm{~N}, k=1,2, . ., n+1, f \in S$.

Ostatnia nicrówność przy $k=n-1$, wzgl. $k=n+1$ jest równoważna z oszacowaniem $n$-tego uspółczynnika dla funkcji odurotnej $f^{-1}$, wzgl. $g^{-1}$. gdzje $g\left(z^{-1}\right)=1 / f^{\prime}(z)$.

## PEЗЮME

Пусть $S$ обозначает класс нормированных однолистных в одиничном круге функшии и пусть $b_{k}^{(n)}(f)$. Будет $k$-тый коэффициснт функшии $[z / f(z)]^{n}$ в начале координат. Полученные точныс оценки:
a) $\left|b_{k}^{(n)}(f)\right|<\binom{2 n}{n} ; n, k \in N, f \in S ;$
6) $\left|b_{k}^{(n)}(f)\right|<\binom{2 n}{k} ; n \in \mathbf{N}, k=1,2, \ldots, n+1, f \in S$.

Послсднсе неравенство для $k=n-1$, или $k=n+1$ эквивалентно оценком $n$-того козффиинента для обратных функший $f^{-1}$ ил: $g^{-1}$, где $g\left(z^{-1}\right)=1 / f(z)$.

